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2) BI7M7I+ x g5 AR G Ee (By) F=
= SEME SHE Ald o|83A
O A o+dd(30%) O A o+gd(30%) O Al -8 (30)
- 18- 2= Egaoy) - 18- 2= Ed0oy) - 12 .22 QEA(10H)
— N = — N = (57X _ o
x~at - gg;;(%ﬁoj ToE - QQZEST(SD) B %HJSI{I o (sH)
ST | _ A geiuizHsH) AR 97| ZH(E) - d3d(63)
- SEZA=z3H(57) — SEx=zsE(5) - AR ERI712H(108)
O X HAM(157) O X2 HAM(107) O X% HAE(107)
- X9 XS (158) — X[G7["E MH|AXIRA(10E) — X[Q7dE MH|AXIRA(10E)
O AFAH = (55H) O MHA = (60F) O AMHA = (60F)
- M= ragon) | T ISH TEEU0S) | - AGEE e
B8 | - o5 aus=ism) _ e mesiom D Ra gecim
D OO BE e TR | - MuEd ssdesE | - M B8 RI000
- 4E RS2 AR(108) | - 4E Y B BR(0Y) | - 4F Y 3% B2|(10E)
72F4 1O B(IE Al o471 & ASH A7, slY7|IY § (2F)
- 202444 dHE 9%
(2024. 4. 71%)
i HHEY FHUE) H| 2
1 MM HEH( D SAIEAEZR) 10,0008 H 10,000
2 MY EH( D SAIEAEH) 1,000 1,000
3 4E3%4 10kg 30,000
4 cEd AF MENE 2 60,000
5 CEd A5 MENE 1 45,000
6 cEd MENE 30,000
7 FI|ME 6 35,000
8 FI|IMEGBP) 20,000
9 ZEFE(15) 24,000
10 ZEFE0 17,000
11 Ol MEX| EAE OpA3 12,500
12 HCle HIEF M E@OrAIZ1000+I{=10004) 30,000 H
13 MO E[E2] NME@FAIZ1004+I§ =1000H) 30,000 Ha
14 Hoe o= 2ElE 28 50ml 30,000 Ha
15 HCjg HWEA HHE OFF0F 271 0] ME 30,000 i
16 2oL HAHE [OF § 2O[AX HC| =M 5009 20,000 Ha
17 S|4 dAHE Cor HELEl HC| 3 2009 20,000 Ha
18 HCog Aeja 25 EZEHE QIH oA 20,000 o
19 Holg EE2| ofAl4 orA3 1004 10,000 M
20 Holg Szt o4 orA3 1004 10,000 M
21 ME0FH@BE) 28+ M SHMOF(15) 1 30,000 Ha
22 LA &, E7|15270ml), SS&7H(130g) ME 60,000 Ha
23 ZLfAE &, E7|15(100ml), S-S &7H(100g) OJLIME 30,000 Ha

¥ 37 GA-1270 F5 F7F A4 (2024, 39)
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